Math 9 Algebra and Equations Extra Practice Solutions

1. 5x

7. 4x(8—-5)=3
12x =3
1
=13
8. —4(1-5x)=3
—4+20x=3
20x =7
7
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12.

13.

14.

15.

16.

17.

18.

19.

20.

1-2x=3(x—-2)
1-2x=3x—-6
7 =5x

7

X ==
5

—-2(5x—-3)=3—-x

—-10x+6=3 —x
3 =9x

3
S
-3
5

=

4
7

=4x—12
47

4

2 W

50 -3 _ -2

7 5
—14 = 25x—-15

4x+:-1=7
20x+x—-5=35
21x =40

40
*=u
P 4
stP—2=7
Multiply by 21
7p + 21p — 42 = 12
28p = 54

27

1

4-2x=1-3(x-3)

Multiply by 4

16 —-8x=4—-3(x—-3)
16 —-8x=4—-3x+9

3=5x
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21.

22.

g3
5

4 (3
4x—4=§(5x—1)
Multiply by 3

3
12x — 12 =4(Ex— 1)
12x—-12=6x—4
6x =8
4

X =z
3

See diagram below:

The front portion of the truck is % of its total length. If the
remainder of the truck is 5 m, what is the total length of the truck?
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